52

2-1.68=0.32(g)

CuO
0.32+&x100%:1.6(g)
80
Cu0% 21‘276><100% =80%
80%
Cu X g CuO
(2-x)¢g Cu (1.68 —x) g
H, + CuO ACu +H,0
80 64
(2-x)g (1.68-x)g
tx=0.4(¢)
CuO 2-0.4=1.6(g)
Cu0 «x¢g Cu ygo
H, + CuO 2 Cu + H,0
80 64
xg )
4
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211600

x=1.6(g)
CuO
CuO xg
A
H, + CuO Cu + H,0
80 64 80 -64 =16
xg 2-1.68=0.32 ¢
x=1.6(g)
2 20 g 73 g
85.6 g
X go
Zn +2HCI1 ZnCl, + H, 1
73 136
(73-x)g (85.6-x)¢g
x=58.5(g)
173 -58.4=14.6( g)
14.6
7 x100% =20%
20%
x g Y 8o

20+73-85.6 —y=(7.4-v) (g -

Zn + 2HCl==ZnCl, +H, 1
65 73 2
(20-y)g xg (7.4-y)¢g
ty=T7(g) x=14.6(g)
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=63 g

T3xg

=63 ¢

xg
Zn +2HCl ==ZnCl, + H, 1
73 136 136 -73
g 85.6 -73=12.6 g
tx=14.6(¢g)
xg HCI
ZnCl, °
35.5
x X36. 5 x 100%
2x35.5
= 85.6-(73 -2 36 x100%
tx=14.6(¢g)
X
ZnCl, y go
Zn +2HCl =—=7nCl, + H, 1
73 136 136 - 73
Bxg yg
y =136x( g)
:136x +73(1 —x) =85.6(g)
2 =20%
3
26.5%
30% ?
W,
26.5%
1-26.5% =73.5% .
30%
X Y
MnO,
2KCI0, = —=2KCI +30, 1
245 96
96x _

245 _

X
x %x_ gy
9% yy2450x

.53 .

Wx26.5% =309

Vo0 4. X100% =30%
x=0.292W

. KCl
_0.292w % =409

Va3 5q, X 100% =40%

MnO, 1o
#_3 77
26.5% '8
1
300, =3B
3.77-3.33=0.44 g
. KCl0, X go
MnO,
2KC10, 2KCl +30, 1
A
245 96
245/90 = x/0. 44
x=1.12(g)
KCl0,
_L12 % =
377 X 100% =40%
1 g
MnO,

.735 go

0.265 G KCIO,

0.265 +30% =0.883( g)

xg
MnO,
2KCI0, ====2KC1 +30, 1
245 96
x 0.117 g
x=0.298( g)
0.298
0 735 % 100% =40%
( 12015 -01 -12)

1-0.883=0.117(g)




